

| | DESCRIPTION OF SERVICE (all hauling distances are referenced as the shortest drivable route, traffic not considered) Disposal Fees shall be passed through to the City without markup. | | | UNIT | UNIT | Ashbritt COR# 24039-C | | | Ceres Environmental COR# 23936-C | | | CrowderGulf COR# 19672-C | | | D&J Enterprises COR# 24170-MC | | | DRC Emergency COR#16054-MC | | | Holliday Const COR# 13111-MC | | | KDF Enterprises COR#23905-MC | | | TFR Enterprises COR#21154-MC | | |
|---|--|---------|------|-----------|---------------|-----------------------|---------------|-----------|----------------------------------|-----------|---------------|--------------------------|---------------|-----------|-------------------------------|-----------|---------------|----------------------------|---------------|--|------------------------------|--|--|------------------------------|--|--|------------------------------|--|--|
| VEGETATIVE DEBRIS | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
| 1 | Pick up vegetative debris from ROW and haul to DMS. (0 to 10 miles) | 50,000 | CY | \$ 6.95 | \$ 347,500.00 | \$ 8.98 | \$ 449,000.00 | \$ 7.80 | \$ 390,000.00 | \$ 7.25 | \$ 362,500.00 | \$ 7.42 | \$ 371,000.00 | \$ 7.00 | \$ 350,000.00 | \$ 7.25 | \$ 362,500.00 | \$ 6.50 | \$ 325,000.00 | | | | | | | | | | |
| 2 | Pick up vegetative debris from ROW and haul to DMS. (>10 to 20 miles) | 100,000 | CY | \$ 7.95 | \$ 795,000.00 | \$ 9.09 | \$ 909,000.00 | \$ 7.90 | \$ 790,000.00 | \$ 7.25 | \$ 725,000.00 | \$ 7.68 | \$ 768,000.00 | \$ 8.00 | \$ 800,000.00 | \$ 7.25 | \$ 725,000.00 | \$ 6.60 | \$ 660,000.00 | | | | | | | | | | |
| 3 | Grinding / chipping vegetative debris TDSRS, based on incoming cubic yards. | 150,000 | CY | \$ 2.25 | \$ 337,500.00 | \$ 2.78 | \$ 417,000.00 | \$ 2.98 | \$ 447,000.00 | \$ 0.25 | \$ 37,500.00 | \$ 2.68 | \$ 402,000.00 | \$ 4.00 | \$ 600,000.00 | \$ 2.50 | \$ 375,000.00 | \$ 1.60 | \$ 240,000.00 | | | | | | | | | | |
| 4 | Pick up vegetative debris from ROW and haul to final disposal. (0 to 10 miles) | 50,000 | CY | \$ 6.95 | \$ 347,500.00 | \$ 9.18 | \$ 459,000.00 | \$ 9.00 | \$ 450,000.00 | \$ 5.00 | \$ 250,000.00 | \$ 7.24 | \$ 362,000.00 | \$ 7.00 | \$ 350,000.00 | \$ 7.25 | \$ 362,500.00 | \$ 7.50 | \$ 375,000.00 | | | | | | | | | | |
| 5 | Pick up vegetative debris from ROW and haul to final disposal. (>10 to 20 miles) | 100,000 | CY | \$ 7.95 | \$ 795,000.00 | \$ 9.29 | \$ 929,000.00 | \$ 9.25 | \$ 925,000.00 | \$ 8.00 | \$ 800,000.00 | \$ 7.42 | \$ 742,000.00 | \$ 8.00 | \$ 800,000.00 | \$ 7.25 | \$ 725,000.00 | \$ 7.60 | \$ 760,000.00 | | | | | | | | | | |
| 6 | Load and Transport processed vegetative debris from DMS to final disposal. (0 to 20 miles) | 25,000 | CY | \$ 4.75 | \$ 118,750.00 | \$ 4.15 | \$ 103,750.00 | \$ 3.98 | \$ 99,500.00 | \$ 5.00 | \$ 125,000.00 | \$ 3.42 | \$ 85,500.00 | \$ 4.00 | \$ 100,000.00 | \$ 4.00 | \$ 100,000.00 | \$ - | \$ - | | | | | | | | | | |
| CONSTRUCTION & DEMOLITION DEBRIS (C&D) and MIXED DEBRIS (Non-Asbestos) | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
| 7 | Pick up C&D or Mixed debris materials from ROW and haul to Final Disposal. (0 to 10 miles) | 25,000 | CY | \$ 6.95 | \$ 173,750.00 | \$ 9.73 | \$ 243,250.00 | \$ 9.00 | \$ 225,000.00 | \$ 8.00 | \$ 200,000.00 | \$ 7.68 | \$ 192,000.00 | \$ 11.00 | \$ 275,000.00 | \$ 8.00 | \$ 200,000.00 | \$ 7.50 | \$ 187,500.00 | | | | | | | | | | |
| 8 | Pick up C&D or Mixed debris materials from ROW and haul to Final Disposal. (>10 to 20 miles) | 75,000 | CY | \$ 7.95 | \$ 596,250.00 | \$ 9.84 | \$ 738,000.00 | \$ 9.25 | \$ 693,750.00 | \$ 8.50 | \$ 637,500.00 | \$ 7.92 | \$ 594,000.00 | \$ 12.00 | \$ 900,000.00 | \$ 8.00 | \$ 600,000.00 | \$ 8.00 | \$ 600,000.00 | | | | | | | | | | |
| WHITE GOODS | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
| 9 | Remove and transport from ROW to DMS. | 50 | UNIT | \$ 45.00 | \$ 2,250.00 | \$ 38.00 | \$ 1,900.00 | \$ 35.00 | \$ 1,750.00 | \$ 65.00 | \$ 3,250.00 | \$ 35.00 | \$ 1,750.00 | \$ 1.00 | \$ 50.00 | \$ 50.00 | \$ 2,500.00 | \$ 30.00 | \$ 1,500.00 | | | | | | | | | | |
| 10 | Remove and transport from ROW to Recycling Facility or approved disposal facility. | 50 | UNIT | \$ 45.00 | \$ 2,250.00 | \$ 38.00 | \$ 1,900.00 | \$ 35.00 | \$ 1,750.00 | \$ 65.00 | \$ 3,250.00 | \$ 50.00 | \$ 2,500.00 | \$ 1.00 | \$ 50.00 | \$ 50.00 | \$ 2,500.00 | \$ 50.00 | \$ 2,500.00 | | | | | | | | | | |
| 11 | Freon Removal / Recycling and Management | 50 | UNIT | \$ 40.00 | \$ 2,000.00 | \$ 39.00 | \$ 1,950.00 | \$ 30.00 | \$ 1,500.00 | \$ 35.00 | \$ 1,750.00 | \$ 35.00 | \$ 1,750.00 | \$ 1.00 | \$ 50.00 | \$ 50.00 | \$ 2,500.00 | \$ 45.00 | \$ 2,250.00 | | | | | | | | | | |
| SPECIAL WASTE | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
| 12 | Electronic waste removal from ROW and disposal at City approved site. | 50 | UNIT | \$ 25.00 | \$ 1,250.00 | \$ 37.00 | \$ 1,850.00 | \$ 30.00 | \$ 1,500.00 | \$ 5.00 | \$ 250.00 | \$ 19.00 | \$ 950.00 | \$ 1.00 | \$ 50.00 | \$ 50.00 | \$ 2,500.00 | \$ 25.00 | \$ 1,250.00 | | | | | | | | | | |
| 13 | Household hazardous waste removal from ROW and disposal at City approved site. | 250 | LB | \$ 25.00 | \$ 6,250.00 | \$ 4.78 | \$ 1,195.00 | \$ 6.95 | \$ 1,737.50 | \$ 11.00 | \$ 2,750.00 | \$ 9.95 | \$ 2,487.50 | \$ 0.01 | \$ 2.50 | \$ 10.00 | \$ 2,500.00 | \$ 10.00 | \$ 2,500.00 | | | | | | | | | | |
| 14 | Derelict vehicle removal, transfer / tow of typical passenger car. | 10 | EA | \$ 250.00 | \$ 2,500.00 | \$ 125.00 | \$ 1,250.00 | \$ 100.00 | \$ 1,000.00 | \$ 125.00 | \$ 1,250.00 | \$ 150.00 | \$ 1,500.00 | \$ 1.00 | \$ 10.00 | \$ 300.00 | \$ 3,000.00 | \$ 250.00 | \$ 2,500.00 | | | | | | | | | | |
| HAZARDOUS STUMPS and HAZARDOUS TREES | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
| 15 | Removal of hazardous stump from ROW or public property and transportation to DMS. 24" to 36" diameter. | 5 | EA | \$ 225.00 | \$ 1,125.00 | \$ 450.00 | \$ 2,250.00 | \$ 225.00 | \$ 1,125.00 | \$ 275.00 | \$ 1,375.00 | \$ 350.00 | \$ 1,750.00 | \$ 150.00 | \$ 750.00 | \$ 300.00 | \$ 1,500.00 | \$ 150.00 | \$ 750.00 | | | | | | | | | | |
| 16 | Removal of hazardous stump from ROW or public property and transportaton to DMS. >36" to 48" diameter. | 10 | EA | \$ 350.00 | \$ 3,500.00 | \$ 600.00 | \$ 6,000.00 | \$ 325.00 | \$ 3,250.00 | \$ 395.00 | \$ 3,950.00 | \$ 450.00 | \$ 4,500.00 | \$ 150.00 | \$ 1,500.00 | \$ 600.00 | \$ 225.00 | \$ 225.00 | \$ 2,250.00 | | | | | | | | | | |
| 17 | Removal of hazardous trees (leaning or damaged) from ROW or public property that are 6" to 24" with the trunk measured at DBH. | 10 | EA | \$ 150.00 | \$ 1,500.00 | \$ 185.00 | \$ 1,850.00 | \$ 90.00 | \$ 900.00 | \$ 165.00 | \$ 1,650.00 | \$ 195.00 | \$ 1,950.00 | \$ 80.00 | \$ 800.00 | \$ 200.00 | \$ 2,000.00 | \$ 150.00 | \$ 1,500.00 | | | | | | | | | | |
| 18 | Removal of hazardous trees (leaning or damaged) from ROW or public property that are >24" to 36" with the trunk measured at DBH. | 5 | EA | \$ 250.00 | \$ 1,250.00 | \$ 295.00 | \$ 1,475.00 | \$ 160.00 | \$ 800.00 | \$ 225.00 | \$ 1,125.00 | \$ 350.00 | \$ 1,750.00 | \$ 100.00 | \$ 500.00 | \$ 300.00 | \$ 1,500.00 | \$ 175.00 | \$ 875.00 | | | | | | | | | | |
| 19 | Removal of hazardous trees (leaning or damaged) from ROW or public property that are >36" to 48" with the trunk measured at DBH. | 5 | EA | \$ 375.00 | \$ 1,875.00 | \$ 425.00 | \$ 2,125.00 | \$ 250.00 | \$ 1,250.00 | \$ 325.00 | \$ 1,625.00 | \$ 450.00 | \$ 2,250.00 | \$ 150.00 | \$ 750.00 | \$ 400.00 | \$ 2,000.00 | \$ 200.00 | \$ 1,000.00 | | | | | | | | | | |
| 20 | Removal of hazardous trees (leaning or damaged) from ROW or public property that are >48" with the trunk measured at DBH. | 5 | EA | \$ 475.00 | \$ 2,375.00 | \$ 650.00 | \$ 3,250.00 | | | | | | | | | | | | | | | | | | | | | | |

City of Diamondhead
Disaster Debris Collection and Disposal Services RFP 2021-006
ADDENDUM No. 1

Addendum No. 1 shall be completed and calculated utilizing proposed unit pricing in the Disaster Debris Hauler RFP 2021-006 response. Addendum No. 1 must be signed, dated and included as a part of the submittal.

| | | | | | |
|---|---|---------|------|------------|----------------|
| <p><i>The estimated quantities given below are scenario-based and will be used solely for assisting the Owner in its evaluation of proposals for potential award of a contract and are in no way indicative of actual or guaranteed debris quantities or debris types that may arise as the result of any event in which the Owner may utilize the services herein.</i></p> | | | | | |
| | DESCRIPTION OF SERVICE (all hauling distances are referenced as the shortest drivable route, traffic not considered) Disposal Fees shall be passed through to the City without markup. | UNIT | UNIT | UNIT PRICE | EXTENDED PRICE |
| VEGETATIVE DEBRIS | | | | | |
| 1 | Pick up vegetative debris from ROW and haul to DMS. (0 to 10 miles) | 50,000 | CY | \$ 7.25 | \$ 362,500.00 |
| 2 | Pick up vegetative debris from ROW and haul to DMS. (>10 to 20 miles) | 100,000 | CY | \$ 7.25 | \$ 725,000.00 |
| 3 | Grinding / chipping vegetative debris TDSRS, based on incoming cubic yards. | 150,000 | CY | \$ 2.50 | \$ 375,000.00 |
| 4 | Pick up vegetative debris from ROW and haul to final disposal . (0 to 10 miles) | 50,000 | CY | \$ 7.25 | \$ 362,500.00 |
| 5 | Pick up vegetative debris from ROW and haul to final disposal. (>10 to 20 miles) | 100,000 | CY | \$ 7.25 | \$ 725,000.00 |
| 6 | Load and Transport processed vegetative debris from DMS to final disposal. (0 to 20 miles) | 25,000 | CY | \$ 4.00 | \$ 100,000.00 |

City of Diamondhead
Disaster Debris Collection and Disposal Services RFP 2021-006
ADDENDUM No. 1

| CONSTRUCTION & DEMOLITION DEBRIS (C&D) and MIXED DEBRIS (Non-Asbestos) | | | | | |
|---|--|--------|------|-----------|---------------|
| 7 | Pick up C&D or Mixed debris materials from ROW and haul to Final Disposal. (0 to 10 miles) | 25,000 | CY | \$ 8.00 | \$ 200,000.00 |
| 8 | Pick up C&D or Mixed debris materials from ROW and haul to Final Disposal. (>10 to 20 miles) | 75,000 | CY | \$ 8.00 | \$ 600,000.00 |
| WHITE GOODS | | | | | |
| 9 | Remove and transport from ROW to DMS. | 50 | UNIT | \$ 50.00 | \$ 2,500.00 |
| 10 | Remove and transport from ROW to Recycling Facility or approved disposal facility. | 50 | UNIT | \$ 50.00 | \$ 2,500.00 |
| 11 | Freon Removal / Recycling and Management | 50 | UNIT | \$ 50.00 | \$ 2,500.00 |
| SPECIAL WASTE | | | | | |
| 12 | Electronic waste removal from ROW and disposal at City approved site. | 50 | UNIT | \$ 50.00 | \$ 2,500.00 |
| 13 | Household hazardous waste removal from ROW and disposal at City approved site. | 250 | LB | \$ 10.00 | \$ 2,500.00 |
| 14 | Derelict vehicle removal, transfer / tow of typical passenger car. | 10 | EA | \$ 300.00 | \$ 3,000.00 |
| HAZARDOUS STUMPS and HAZARDOUS TREES | | | | | |
| 15 | Removal of hazardous stump from ROW or public property and transportation to DMS. 24" to 36" diameter. | 5 | EA | \$ 300.00 | \$ 1,500.00 |
| 16 | Removal of hazardous stump from ROW or public property and transportaton to DMS. >36" to 48" diameter. | 10 | EA | \$ 600.00 | \$ 6,000.00 |
| 17 | Removal of hazardous trees (leaning or damaged) from ROW or public property that are 6" to 24" with the trunk measured at DBH. | 10 | EA | \$ 200.00 | \$ 2,000.00 |

Disaster Debris Collection and Disposal Services RFP 2021-006
ADDENDUM No. 1

| | | | | | |
|----|--|-----|--------|-----------|-----------------|
| 18 | Removal of hazardous trees (leaning or damaged) from ROW or public property that are >24" to 36" with the trunk measured at DBH. | 5 | EA | \$ 300.00 | \$ 1,500.00 |
| 19 | Removal of hazardous trees (leaning or damaged) from ROW or public property that are >36" to 48" with the trunk measured at DBH. | 5 | EA | \$ 400.00 | \$ 2,000.00 |
| 20 | Removal of hazardous trees (leaning or damaged) from ROW or public property that are >48" with the trunk measured at DBH. | 5 | EA | \$ 500.00 | \$ 2,500.00 |
| 21 | Removal of hazardous hanging limbs from ROW or public property that are >2 inches at point of break. | 500 | p/TREE | \$ 100.00 | \$ 50,000.00 |
| | | | | | \$ 3,531,000.00 |

Total cost of items 1 through 21 above as extended based on unit prices and quantity totals \$ _____

Signature: _____

Company: _____

Date: _____